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1 Linear Algebra

1. P6L2-:
[ 0 ax—ap ... a§72 —a’fo alg*l —a’ffl
2. P6 L3:
1 0 0 0
0 as—ay ... (a2 —al)a’2€73 (a2 —al)a;“*
o :
0 ar—ar ... (ax—a1)a; (ar, —a1) aj

3. P10 Example 13: the matrix A in Example 8 — the matrix A below

4. P131L8: uy = Hv—ll”vl — Uy = T

ol

5. P14 L4: symmetric because — symmetric because when A is symmetric
6. P14 Example 18: The eigenspaces of — The eigenspaces of A =
7. P16 L10: byy1, ..., b = b1, ..., by

8. P16 L17: Proposition (1.6) — Proposition 4

2 LINEAR REGRESION

1. P26 L12-,L.13-:

—EB-BB-BT =E { (xTx)™" XTe} {(XTX)‘1 XTe}T

o2 (xTx)T

= (XTX) 7' XT (Bec™) X (X7 X)
2. P27L3- [v1,..., UN—p—1,UN—p; - - - s Un] = [V1, ..., UN—p—1,UN—p, - -, UN]

3. P29 Section Title: 3; =0 — 8; = 0
4. P43 L11, L13: Proposition 4 — Proposition 3



3 CIASSIFICATION

1. P55L4: 2> —By/B8 — x> —Lo/Bfor >0
P60 L1: below: R? x R — RP x {—1,1}

P61 L10-: det¥ — X4

P2L7--mi =71 —>m=7_1,p=1
P65LIL: {1,...,n} —{1,...,N}

AN

P65L17: S = {2} — 5 = {1}.

4 RESAMPLING

1. PR2LI4 i ¢S siesS
V(YY) - Cov(X,Y)

o= V(Y)—u(y) _
2 PBO L= 0= vy (vim20en®y] 7 YT X)L V(YY) - 2C00(X, Y)
v2 — 02 v2— ¢,
3.P87 T 4= 524 — 4=t "L
vZ + 02 — 2¢y v2 + U; —2¢qy

4. P87 13: return -np.var (X, ddof=1) — return -np.cov (X, Y)

5. P90 Exercise 33(b): §js = Xs8s — G5 = XsfB—s

5 Information Criteria

1. P98 L1,L2: S.min — S_min

. P101 (5.3)(54) (six): x = X

P89 Example 47: E[VI)(VI) "] — E[(VI)(VI)T]

P102 Proposition 17: Any covariance — Suppose .J is nonsingular. Any covariance
P104 Proposition 18: the likelihood — the negated likelihood

P106 L11-: £ log2mo? + L (p+1) — L log2mo?e + L (p+ 1)

I

P109 L7, L9 (one each): (n — 1)-th — (n — j)-th

6 Regularization

1. PI1I6L3: XTX + M. - XTX + NI

2. P117 In the last lines the table and Figure 6.1 of in Example 48: 18-24 year old in college — people 25 years + in
college

3. P125 Figure 6.6: =,y — (1, B2 (The axes for the both figures).



7 Non-Linear Regression
1. P137L10-: foreachi =1,2,..., K +1 —foreacht =1,2,... . K
2. P145L1,L4: ) /oo {g" ()2 dx — X [ f"(x)}?dw, L(g) — L(f)
—oo
3. PI48L6-: K € X"*" — K € R"*"
P149 L3-: K(x,x;).K(x, z;) — k(z,x;).k(z, ;)

P150 L2: K(zy, 1), K (s, 2), K (T4, xN) = k(Ts, 21).k(4, ;). k(2s, TN)
P137 L8-: fourth — fofth

S A

Exercise 67: y; — B(x)T[1,2;] = y; — [1,24]3(x)

8 Decision Trees
1. P172L8-: x € Rj — X; € Rj.

2. PIT3L10-: {zg | wp < x5}, {z | 26 > @i} — {on | v, < @i j;and {zg | zp; > 245}

2 2
3. PIT3L6-: (yi — 5) " (wi — )" — (yk - z?;f,j) : (yk - 17&)

4. P181 L3: Remove ¥;



